% B65n] FERBEFRI—IELBRANCEFEAXR HFHMER FER (A23—F:13281509)

FRE25%E7523H (k) -24H (K)

1% F HE—EF BEL=/— BB (B FT—F - 281050)
A% B 2 143 214k 3 4f 5 {i 6 fi 7 i 8 i
49 |23 100m [lUA Z5H(1) 12.37 | EA E#0) 12.91 Wm0 12.92 | = AR FE1) 12.98 [§A4 T4 13.03 | FAERZE) 13.37 | AT A 13.38 FHAFUEQ) 13.40
R H -2.0 |ZHEEIR -1.5 W -1.5 MpEE -2.0 -2.0 #HFn -1.5 fHIsd -1.5 #iFn -2.0
37 |24 200m [lUA ZFEQ) 25.36 | LA E£#HQ0) 26.33 |WE A RIGZR() 26.59 @4 TH1) 26.61 |&HF HEH (1) 27.11 | EAFAED 27.67 /NEBIEON) 27.76 | KPE HI(1) 27.77
k £ H -2.6 |\ H -3.6 |TE)IEE -3.6 ¥ -2.6 /I -2.6 #Hfn -3.6 MFEER -3.6 = -2.6
24 (238 400m |[J1& EETEQ) 1:02.40 |FfL FARE(1) 1:03.00 |F%F PFE1) 1:03.04 | FERE(D) 1:03.17 |k &) 1:03.67 | KIG (1) 1:03.77 | R4S #HEFE(D) 1:04.88 | B 0 O0(1) 1:05.12
SRR liES ez P [iURLaEs R SefE (ial
_ |35 24A 800m |[M 3ExQ1) 2:16.86 | L)1 Z(1) 2:18.85 (#5161 2:19.85 Ve MEA(1) 2:25.27 FAER F5(1) 2:27.87 NI EHQ) 2:28.66 \KZ)Il A1) 2:29.02 | KH R 2:30.90
” R T JEE o JEEE R B R ERLIES
34 |24H 1500m [HH 3FEx1) 4:39.88 |4 Z&(D 4:43.28 |BL)I ZFE(D 4:43.52 |MIH B 4:48.48 |0 J5 AL 5:01.74 | KA R 5:02.76 NI 3EH ) 5:08.68 \EZ)Il - (1) 5:09.01
FEERH JABE RN B B [ilal ERlES A SR
w | 18 238 3000m [E4 ZZ(1)  10:02.01 58 A1) 10:04.09 Bz ZJ5(1)  10:04.10 9% FID)  10:48.28 | A4 M) 11:09.47 A B 11:13.30 A BEEQ)  11:23.61 Ak HOFN1)  11:32.61
FER D B HBE [ilal EH HEE RN R 5
16 | 238 100mH |tk #4c(1) 16.11 |5 B%Z 4~ 7(1) 17.06 =& 71 17.25 [{EA HE#Q1) 17.47 ZER &) 17.83 KA B 17.84 B K1) 19.48 M HH8(1) 19.94
RA-35 (W) EH EH LRl 2 il B FEERKH
5 | 13 |24 400mH [/NBIFOMN1)  1:03.66 FAH EEE(L) 1:05.24 [T A 1:07.79 [HIBL HE(1) 1:10.93 | K3 BRA(1) 1:11.96 | 5B~ (1) 1:13.48 IR /K1) 1:14.13 JNggRRA&AEQ)  1:15.18
MR )5 = ST R SEE £ H BN Z3]
2 248 5000mW | L% SEfd(1)  31:14.44 [M3 BN 34:55.86
R FEERKH
111238 EEB A ELO 1m67 | [LARHEH(1) 1m45 |45 A1) 1m45 | BRA (D) 1m40 | EEWHETZ3H(D 1m40 |JHE KZE(1D) m35 | F  EEQ) 1m35 |'B 7k 1ET(1) 1m30
2 oLl - RNETA BN LRl HEE R [ialiEle SR ST
28 248 | FERH [HHBITDHD) 5ml16 dbJIl #E(D) 5m05 | (1) 4m89 [ H &) 4m85 | B HHA0(1) 4m80 |41 ZEFE() 4m60 | K4 HEF(1) 4m43 LA EE(1) 4m40
g R +5.2 I 0.7 Fhitk +0.0 FHTRE +1.6 |5 +4.0 FhE AL -0.0 STk 0.0 AFTA 1.3
|| 9 248 mAR SRm D Tm33 | Z (D Tmll [FKH AR 6m76 TEFT Fige(1) 6m39 AL A1) 5m38 /i 352E(1) 5m32 YA BEAR(1) 5m12
R JHEEFR HEE R FhE R SeER SeER HEE R
g 5 238 FmEgE |EET ZEO 25m57 | K¥E W) 20m38 PRE - B 17m08 KM AB(L) 16m65 |JIier = Z%(1) 16m23
B AR (ial FER I A E
K12 248 DY R EEEQ 30m30 M B 24m99 |4EH FEED) 23m63 | FH R ET(1) 21m80 |l 3&4(1) 20m22 (s SE8n(1) 20m07 |E=ET B 3EQ) 18m20 V&)1 F4de(1) 18m05
R [iUal JHBE R BT HEEFR Jezes SRR RN
FRKR
B3 SR R - R mE
FIEIMER i 305 | AW -0.20/s | 72%
238 E4E I 32.5 M- 1.8m/s 61% . RERSSERETER
%gﬁ i 32.0 7+ 0.9n/s 61% RERLESEHBS
SRizha ) 27.5 MTE - 0.5m/s | 81% EE . EEEMF S LS &8 & B M f % Tr—AFEYE: 5 )| B —
248 EFE fi§ 31.0 FAVE - 2.5m/s 60% M EHELSEEGS
ﬁﬁ;&:}g’)ﬂ# [ 32.0 M+ 3.3m/s 55% “E M F I OH FSuoEME: W G T A& BRTE R B 87




